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1. A shade of pink is made by mixing 2 parts red paint to 5 parts white paint.  What is the ratio of red to white paint?




1. Of a team of 10 people, 3 are male.  What is the ratio of males to females in the team?
1. 



1. I make squash by mixing 1 part cordial with 5 parts water.  I want to make a large jug of squash.  If I use 3 cups of cordial how many cups of water would I need?





1. A mother seal is fed 5 fish for every 2 fish for its baby. The zoo keeper feeds the seals 35 fish. How many does the baby seal get?
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Your turn

‘ Look at the collection of shapes below. ‘

‘ What is the ratio of triangles to stars?

. There are 5
. * | triangles and 1 star.

Therefore the ratio

A A . of triangles to stars

is: 5:1
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What is the ratio of blue to red
shapes?
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Applying ratio: Problem 1

At the gym club, - The ratio of girls to boys is 2:1.

there are 2 girls for "~ | The bar represents this by showing 2 pink
every 1 boy. We can girls boys | Poxes and 1 blue box.
say that the ratio of

girls to boys is 2:1. We know that there are 40 girls at the gym

If there are 40 girls and therefore each of the pink boxes
S—— represents 20. Since all 3 boxes are equal,

at the gym, how o e we therefore know that the box representing

many boys are the boys must also be 20.

there?

( There are 20 boys at the gym.
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Applying ratio: Problem 1 C@

At the gym club, We know that for every 2 girls, there is 1 boy.
there are 2 girls for

every 1 boy. We can
say that the ratio of
girls to boys is 2:1.

If there are 40 girls
at the gym, how Therefore, there are 20 boys.

If there are 40 girls, then there must be half
the number of boys.

many boys are

there? Let’s see how we can also use a diagram to help
us understand this problem...
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1. For each group, write the ratio of one group compared to the other.

What is the ratio of What i the ratio of What is the ratio of
grey towhite? triangles to circles? ‘snakes to birds?

O 00
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2. Complete each drawing so that it makes the ratio correct:

‘Complete the drawing Draw 20 ltters (Aand B) | There are 15 pieces of fruit
to show the atio of in'total to the ratio of in total - bananas and.
Oranges: Apples AB strawberries. Draw the
u“"’ 23 ieces of fruit to make.

this atio correct.

bananas:strawberries
21
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What is ratio?

In a bag, there are 4 red cubes and 20 blue cubes. Write the ratio of
red cubes to blue cubes.

The ratio of red cubes to blue Remember, the order of the
cubes is: numbers is very important! It

would be incorrect to say that

4:20 the ratio of red cubes to blue

cubes is 20:4.
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What is ratio?

Ratio is a way of comparing We would say

parts of quantities. For that the ratio
example, we may say that of cordial to
to make squash, we need water is 1:5.
to combine 1 part cordial We read this
to 5 parts water. as‘1to 5.

In ratio, the order of
the numbers is very
important. In the
example above, 1:5 is
the ratio of cordial to
water. The ratio of
water to cordial is 5:1.





